
1
Recessed  

Using spring or tooth washer to avoid nut loosing when pole installation. 
Pole, spring or tooth washer, and thin nut M10 is not provided.

Min.300mm

M
in

.3
00

m
m

5~
10

m
m

11
2~

11
7m

m

Distance between pole 
and ceiling

Ceiling unit installation 

1) Cut out a hole, Proposal dimension 
should be bigger than luminaire; 

2) Fix pole to top surface of building. 

Width/Length of Cut out

Pole with M10 thread 
(not provided)

Mounting bracket installation

Pole with M10 thread 
(not provided)
Spring or tooth washer D10 
(not provided)

Thin nut M10 (not provided)

Mounting bracket

Ceiling 

1) Adjust  the position as needed; 
2) Fix top and down nuts; 
3) Fix adjust screw. 

Adjust screw 

Ceiling 

Luminaire  installation

Fix adjust screw 

Inside ceiling

Performance will be impacted if the clearance 
distance are compromised.

D1 D2 D1 D2 D1

Housing Connection 

Optic cover connection 

EndCap Input installation 

EndCap Ending installation 

2

3

4

5

Up items are same as suspended type. 

6

Cut

Mounting installation 

This marking indicates that this product should not be disposed with other household wastes throughout the EU. To prevent 
possible harm to the environment or human health from uncontrolled waste disposal, recycle it responsibly to promote the 
sustainable reuse of material resources. To return your used device, please use the return and collection systems or contact the 
retailer where the product was purchased. They can take this product for environmental safe recycling.

Product Type
Run Current 

(A)(@220V)

Start (Inrush) 

Current(A) 

/ Ipeak (A)

Start Current 

Duration (μs) /

T(@50% of Ipeak) (μs)

Touch current 

or protective

 conductor current (mA)

MCB Type B 16A 

(or Type C 16A)

Max no. fitting (pcs)

RC550B LED40S L120 PSU CD 0.196 19 275 0.3 ≤24 for B (≤ 40 for C)

RC550B LED40S L120 PSU CD 0.196 19 275 0.3 ≤24 for B (≤ 40 for C)

SM550C LED20S L60 PSU CD 0.105 14 250 0.3 ≤33 for B (≤ 56 for C)

SM550C LED40S L120 PSD CD 0.196 22 275 0.4 ≤24 for B (≤ 40 for C)

SM550C LED40S L120 PSU CD 0.196 19 280 0.3 ≤24 for B (≤ 40 for C)

SP550P LED20S L60 PSU CD 0.105 14 250 0.3 ≤33 for B (≤ 56 for C)

SP550P LED40S L120 PSD CD 0.196 22 275 0.4 ≤24 for B (≤ 40 for C)

Inrush current

1

2

3

1

2

1

1. The luminaire shall be installed by a qualified electrician and wired in accordance with the latest IEE electrical regulations or the national requirements.
2. Please switch off the power supply before changing the product or connection!  3. Do not place readily flammable material near the lamp.
4. In case of operation failure, please switch off the power and contact your nearest dealer.
5. The corrosive atmosphere or hazardous materials such as sulfur, chlorine, phthalate, etc. must be avoided during the use and storage.
6. Basic insulation should be provided between LV supply and control conductors.
7. If the external flexible cable or cord of this luminaire is damaged, it shall be exclusively replaced by the manufacturer or his service agent or a similar qualified person in order to avoid a 
hazard. 8. Indoor use only.   
9. Before use, luminaire must be grounded first. it is also  ensure that the luminaire are always grounded when in use. 
10. The manufacturer will not be held responsible for improper usage or modifications of the product. 11. Do not use other electrical products in this luminaire system.
12.The product is IPX0 & as such is not protected against water ingress & as such we strongly recommend that the environment in which the luminaire is to be installed is suitably checked. If the 
above advice is not taken and the luminaires are subject to water ingress, Philips / Signify cannot guarantee safe failure & product warranty will become void.

Luminaires not suitable for covering with thermally insulating material.   
The light source contained in this luminaire shall only be replaced by the manufacturer or his service agent or a similar qualified person.   

SlimBalance

Mounting Instruction
SP550P  SM550C  RC550B

4441 000 06603  1b

SP550P/RC550B/SM550C

AC550Z ST/END
(EndCap Starter/Ending)

70

10
5

L

Z E 

L(Length)
L120: 1200
L60: 600

Unit ：mm

Product Type Voltage (v) Frequency (Hz) I (A) Power (w) CCT Installation Weight (Kg) Max. Number (PCS)

RC550B LED40S 840 L120 PSU CD GM 220-240~ 50/60 0.196 41 NW Recessed 3.7 10

RC550B LED40S 865 L120 PSU CD GM 220-240~ 50/60 0.196 41 CW Recessed 3.7 10

SM550C LED20S 840 L60 PSU CD GM 220-240~ 50/60 0.105 22 NW Surfaced 2.3 10

SM550C LED40S 840 L120 PSD CD GM 220-240~ 50/60 0.196 41 NW Surfaced 3.8 10

SM550C LED40S 840 L120 PSU CD GM 220-240~ 50/60 0.196 41 NW Surfaced 3.7 10

SP550P LED20S 840 L60 PSU CD GM 220-240~ 50/60 0.105 22 NW Suspended 2.3 10

SP550P LED40S 840 L120 PSD CD GM 220-240~ 50/60 0.196 41 NW Suspended 3.8 10

SP550P LED40S 840 L120 PSU CD GM 220-240~ 50/60 0.196 41 NW Suspended 3.7 10

SP550P LED40S 865 L120 PSD CD GM 220-240~ 50/60 0.196 41 CW Suspended 3.8 10

SP550P LED40S 865 L120 PSU CD GM 220-240~ 50/60 0.196 41 CW Suspended 3.7 10

AC550Z End cap PSD 220-240~ 50/60 0.12

AC550Z End cap PSU 220-240~ 50/60 0.12

Suspension mounting accessory 
Set of two 

Surface mounting accessory 
Set of two 

Recess mounting accessory Set of two

a ab
c

d

ab b
c c

d d

 Suspension cable 1.5m

a: 40;  b: 18;
c: 27;  d: 52.

e

f

g

h

e

f

g

h e: 70;  f: 105;
g: 13;  h: 63.

Unit : mm

EndCap Starter 
( for first luminaire )

EndCap Ending 
( for last luminaire )

Cable clip Screw ST2.9 Screw M3

Connector PSU 
(only for PSU, 3PIN)

Connector PSD 
(only for PSD, 5PIN)

Please note this is independent to 
buy as required.      

AS/NZS
60598

Signify (China) Investment Co., Ltd.

Building No. 9, Lane 888 Tianlin Road, Minhang District, Shanghai, China
Postalcode: 200233

Philips and the Philips shield emblem are registered trademarks of Koninklijke Philips N.V.



3
1

Suspended 

Ceiling unit installation Luminaire  installation 

Insert suspension cable into 
top holder cap and wrest 
cap into holder body

`

D1

Fix Ceiling unit in 
ceiling with screws

Holder body

Screw 
(not provided)

Top holder cap

Suspension cable 

Fix part and mounting bracket installation 

Mounting bracket

Fix part 

Washer D8

 Fix bracket

Suspension 
cable 

1

2

3

1

2

3

4

Adjust screw

1

45

Installation & Connection  

Type L D1 D2 W

L120 1200 1080±3

L60 600 480±3
123±3 3

EndCap Starter 
( for first luminaire)

EndCap End 
( for last luminaire)

Unit ：mm

L L

D1D1 D2 D2

W W

Gasket

D1D1D2 D2

4

2

1

Insert Coupling bracket and plate

Screw M3
(hexagon socket)

Coupling bracket

Coupling plate

Power Cable Connection 

5

4

2

Mounting installation 

Housing Connection 

Fix Coupling bracket and plate to Ending of first luminaire Fix Coupling bracket and plate to Starter of second luminaire

3 1

2

3

3

2

3
First luminaire Second luminaire

Optic cover connection

(×4 )

(×2 )
(×2 )

Maximum amount of linking: 10pcs
Type L60 is only used as last one

>0

=0

Gasket 

Washer D4  
Screw M4  

Washer D4 
Screw M4 

Optic cover

About half length

6

3

2

2

Tear the optic cover protect film down.

4

3

Flip this section of the reflector 
paper out of the slot 

(×4) 

1

1

Fix it back to the original slot

(×4) 

Torque force for all screws  
M4: 0.8~1.2 N.m; M3: 0.4~0.6 N.M  

1.5mm

1.5mm

1.5mm

Wire spec 60227 IEC02/60227 IEC08 1.5~2.5mm 
( not provided), strip length: 8mm.

(×3)

L
N

EndCap Input  installation EndCap Ending installation 

(×5)

2
1

N
3

L: Brown; 
N: Blue; 
   : Yellow + Green

PSU

PSD

Fiber tube( not provided) 

3: L ,Brown; 
N: N, Blue; 
   : Yellow + Green
2: DALI-, Gray
1: DALI+, White

4

1

2

2

1

2

1

5

(×2)

4

6

3
5

1

1

Surfaced 

D1

1919

Fix Mounting bracket in ceiling 
with ceiling screws and nuts

Mounting installation

Surface ceiling unit 
(ceiling screws and nuts, not provided)

Mounting bracket 
Adjust screw

Luminaire  installation

Ceiling 

19191919 19

D2 D1 D1D2

2

Adjust Mounting bracket with line 

Center line of screw hole 

Fix adjust screw

1

2

6

Adjust screw

Ceiling 6Housing Connection 

Optic cover connection 

EndCap Input installation 

EndCap Ending installation 

2

3

4

5

Up items are same as suspended type. 

Fix adjust screw

Screw M4 
(hexagon socket) Screw M4 

(hexagon socket )

>0

=0 2

3

3mm

3mm


